	Purchase Order				
Prairie View A&M University	Purchase Order Date	PO/Reference No.	Revision No.		
The set of	Jul 24, 2019	AB0467234	0		
Sales Tax Exemption	<b>Contact instructions for questions regarding this Purchase Order:</b> If Buyer Contact information is listed below, please contact the Buyer.				
Prairie View A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of	If not, please contact the Customer.				
Texas, for all purchases made for the exclusive use of the Prairie View	Buyer Contact:				
A&M University.	Buyer	Buyer Email	Buyer Phone Number		
The laws of the State of Texas shall govern this Purchase Order.	ctd - Douglas, Corey	ctdouglas@pvamu.edu	936.261.1935		
Member of the Texas A&M University System.	Customer Contact:				
	Name:	Candice Ross			
	Email:	CVROSS@PVAM	U.EDU		
	Phone:	+1 936-261-9100	)		

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Prairie View A&M's Department of Procurement and Disbursement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Prairie View A&M's Terms & Conditions, which are available online: http://www.pvamu.edu/pdsv/wp-content/uploads/sites/88/PVAMU-Ts-Cs-FINAL.pdf

Supplier Information		Delivery Information			
Supplier Name Address Phone FOB / FREIGHT Pre-Pay & Add Payment Terms Contract Number - Header Contract Number - Line Quote number	ADIDAS AMERICA INC 685 CEDAR CREST ROAD SPARTANBURG, SC 29301 US +1 864-587-3200 Destination No 0, Net 30 Adidas Contract #C2018441 no value	Delivery Address   TAMUS Member:   Attn:   Athletics   c/o Central Receiving   Warehouse   Room   1178 Reda Bland Evans St   MS 1500   Prairie View, TX 77446   United States   Delivery Information   Required Delivery Date   Ship Via	05-Prairie View A&M University (05) Dominique Jasmin Equipment Room - Golf Best Carrier-Best Way		
		es <b>to Supplier</b>	rges will be accepted.		

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 34	12EI5 ULTIMATE PANT	N/A	EA	40.00 USD	17 EA	680.00 USD
2 of 34	12EIGT7 ULTIMATE PANT	N/A	EA	40.00 USD	17 EA	680.00 USD
3 of 34	12EIRNG ULTIMATE PANT	N/A	EA	40.00 USD	17 EA	680.00 USD
4 of 34	139813 AMPLIFIER LG TEE	N/A	EA	10.00 USD	21 EA	210.00 USD
5 of 34	123RC2P CLIMA TECH TEE	N/A	EA	7.50 USD	21 EA	157.50 USD
		I				
6 of 34	123R13 CLIMA TECH TEE	N/A	EA	7.50 USD	21 EA	157.50 USD
		I				
7 of 34	123SC2P CLIMA TECH SHORT	N/A	EA	10.00 USD	21 EA	210.00 USD
		I				
8 of 34	841TC2P ALPHASKIN LS TOP	N/A	EA	15.00 USD	21 EA	315.00 USD
		1				
9 of 34	841T13 ALPHASKIN LS TOP	N/A	EA	15.00	21 EA	315.00
				USD	21 LA	USD
10 of 34	662BC2P ALPHASKIN LONG TIGHT	N/A	EA	17.50 USD	21 EA	367.50 USD
11 of 34	12FXC4V GAME MODE POLO	N/A	EA	32.50 USD	21 EA	682.50 USD
12 of 34	12FXC4U GAME MODE POLO	N/A	EA	32.50 USD	21 EA	682.50 USD
		I				
13 of 34	12FXWUG GAME MODE POLO	N/A	EA	32.50 USD	21 EA	682.50 USD
		1				
14 of 34	111EFL9 TEAM ISSUE CREW	N/A	EA	25.00 USD	21 EA	525.00 USD

15 of 34	12455 CLASSIC CLUB 1/2 ZIP	N/A	EA	32.50 USD	21 EA	682.50 USD
		1	1			
16 of 34	123Y5 ULTIMATE SHORTS	N/A	EA	30.00 USD	19 EA	570.00 USD
		1				
17 of 34	123YGT7 ULTIMATE SHORTS	N/A	EA	30.00 USD	19 EA	570.00 USD
			I			
18 of 34	123YRNG ULTIMATE SHORTS	N/A	EA	30.00 USD	19 EA	570.00 USD
19 of 34	12HM13 A,PLIFIER LG TEE	N/A	EA	10.00 USD	18 EA	180.00 USD
			1			
20 of 34	12HL5 AMPLIFIER SS TEE	N/A	EA	7.50 USD	18 EA	135.00 USD
21 of 34	12HL13 AMPLIFIER SS TEE	N/A	EA	7.50 USD	18 EA	135.00 USD
22 of 34	12H85 GAME MODE TRAINING SHORT	N/A	EA	15.00	18 EA	270.00
22 01 3 1				USD	10 17	USD
23 of 34	12H9G9Q GAME MODE TRAINING SHORT	N/A	EA	15.00	18 EA	270.00
20 01 01				USD		USD
24 of 34	12H922Q BELIEVE THIS 7/8 TIGHT	N/A	EA	32.50	18 EA	585.00
		I		USD		USD
25 of 34	12H1022R BELIEVE THIS 7/8 TIGHT	N/A	EA	32.50 USD	18 EA	585.00 USD
		I				
26 of 34	12GQC4U GAME MODE POLO	N/A	EA	32.50 USD	18 EA	585.00 USD
		I				
27 of 34	12GRCP4 GAME MODE LS 1/4 ZIP	N/A	EA	35.00 USD	18 EA	630.00 USD
28 of 34	124113 WOMEN'S ULTIMATE POLO	N/A	EA	30.00	18 EA	540.00

			٦	otal	17,22	7.50 USE
		1		030		030
34 of 34	Estimated Freight Cost	n/a	EA	1,500.00 USD	1 EA	1,500.0 USD
55 01 54				USD	21 LA	USD
33 of 34	211BMGW FLEECE PANT	N/A	EA	20.00	21 EA	420.00
32 of 34	655FMGW FLEECE HOOD	N/A	EA	20.00 USD	30 EA	600.00 USD
		1		000		030
31 of 34	12GC49 GAME MODE COACHES VEST	N/A	EA	32.50 USD	30 EA	975.00 USD
		1		USD		USD
30 of 34	12435 WOMEN'S ULTIMATE POLO	N/A	EA	30.00	18 EA	540.00
29 of 34	1242GT7 WOMEN'S ULTIMATE POLO	N/A	EA	30.00 USD	18 EA	540.00 USD
		N. /A	= 4	20.00	10 54	E 40.0

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail abvendorhelp@tamu.edu. Invoice must include the PO/Reference number shown above.	Prairie View A&M University-Accounts Payable ***Do Not Mail Invoices*** Email invoices to Payables@pvamu.edu P.O. Box 519 MS 1311 Prairie View, TX 77446-0519 United States